EAFYAHOGEALOCSHEEM243 1 ~)

1. FEERIZIBWT 30 AL 45 FoR T b 2 A BERE B 19 2 BRI

B A (w)

FEARFHHHE()

2,500 FILA L 5,010 A | y=0.8w

5,010 (9LL I 12,330 LT | y = 0.8w—0.3{ (w—5010 )/(12330—5010) }w
12,330 i@ 15,140 ILAF | y=0.5w
15,140 [ y = 7,570

T T 45 BB 60 BRI T B AR B T 5 7R

B A (w)

HAARFHAH(y)

2,500 LA | 5,010 AT

y = 0.8w

5,010 HLA | 12,330 HELT

y=0.8w—0.3{ (w—5010 )/(12330—5010) }w

12,330 & 16,660 MLLF

y = 0.5w

16,660 [t

y = 8,330

HAERIZIUNT 60 5Ll L 65 R Td DA B 1T T 2 FHHE K

H4HE (w)

FEARFHHHE()

2,500 M LLE 5,010 A

y = 0.8w

5,010 HEL | 11,090 HELT

y = 0.8w—0.35{(w—5010)/(11090—5010) } w
{y =0.05w+ (11090 % 0. 4)

DT DR T DO%E
11,090 & 15,890 HLLF y = 0.45w
15,890 [ y = 7,150

. EEMER TR T 30 AT T b 2 ZAGE M IR D FHH A

Ea R W) EARFYHE(y)
2,500 HLLE 5,010 F K y = 0.8w
5,010 F9LA 1 12,330 UL F | y=0.8w—0.3{(w—5010 )/(12330—5010) }w
12,330 8 13,630 HLLF | y=0.5w
13,630 M A y = 6,815

()1 HAEH LI, TRERITIRDBER D H 2,
2 URBALFRIZOW T, 1H R A0S,




